Name Test 2

CHEM 0201 (Organic) Fall 2015
1. (24 pts.) Provide IUPAC names for the following structures. )
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2. (8 pts.) a. Draw a Newman projection along the C2-Cs bond for the confirmations drawn
below.
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b. (6 pts.) t‘or the molecules drawn above, determine which is the lower energy conformation, and
explalrl the basis for your ch01ce
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3. (12 pts.) Determine the degree of substitution (1°, 2°, 3°, 4°) for the circled C atoms on the
structures drawn below.
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4. The regction of trimethylamine with water i drawn below.
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a. (4 pts.) Identify the molecule that is acting as an acid.
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b. (4 pts.) Identify the molecule that is acting as a base.
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c. (4 pts.) Explain why trimethylamine is able to play the role it does. 3
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5. (10 pts.) Use Vﬁl%@ bond theory/to lai alﬁmco idered nucleophilic. In your
explanati b&Abde T or bit&ds~are being used to form the
nucleophilic bonds in alkene$?
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s most likely to be released as a

6. For the follozng moleculez @t % % m 1
hyd es ( cl the molecule that is more likely
to be the stronger acid
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8. (10 ptSM ckdlfism M‘rsg—@(f Mh% below can be formed in this
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